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NEET MICRO TEST 12 (22.11.2024)

20x4=80 MARKS

Botany: Principles of inheritance & variations, Zoology: Evolution

Chemistry: Electrochemistry, Physics: Kinetic theory

1. Term ‘X-body’ was given by
1) Henking
2) Stevens
3) Carl Correns
4) A.H. Sturtevant

2. Mark the statement incorrect for chromosomal
theory of inheritance.

1) Both chromosomes and genes retain their
number and individuality throughout the life
of an organism

2) Chromosomes are carriers of Mendelian
factors which segregate and assort
independently during meiosis

3) The two alleles of a gene pair are located on
homologous sites of non-homologous
chromosomes

4) A gamete carries only one chromosome of a
type and one of two alleles of a gene

3. Match the following.

a) Alleles i) A single gene exhibiting more
than one phenotypic expression.
b) Genes ii) The units of inheritance

c) Pleiotropy |iii) Forms of a gene which codes
for a pair of contrasting traits.

d) Multiple |iv) Presence of more than two
allelism alleles for a gene

1) aiii), bii), c(i), d(iv)
2) a(iii), b(ii), c(iv), d(i)
3) a(ii), bii), c(i), d(iv)
4) a(ii), b(iii), c(iv), d(i)

4. A cross between two tall garden pea plants
produced all tall plants. The possible genotypes
of the parents are
A) Tt, Tt
B)TT, TT
COTT, Tt
D) Tt, tt
1) Aand B
2)Band C
3)Band D
4)Aand D

1. ‘X-2_L60’ 616018 G&T6L euLpBISILIGUT
1) Gamesemi
2) eToleaIesTeNd
3) &ije0 Bemyeserd
4) A.H. eroLjOILeuest

2. umgbuflw @CrrGLm@amiomed G LITL 1960 SHeIMIT60T

FBenBd GBlSbHLD.
1)  &CmGwrGambadeT  WBXBID  OTLGDISHET
QB> 96 o ulfoiBder  amppre
WPReUGID  SleuBmled  6TauT6uT SN &BEMUILILD
SO SHBHIUSHMBUID 58 BHM6USHHISH0ST6TE GTMB60T

2) &GBymBn@amibsei GLDawTQEUIGT BTy e 6ot
BLHHBET  QGID, Slewed  GTBeOLIGLILT 6T
Gurgl sealsHalwns LfleHas  aumaslLBGHI3
&l 6oT.

3) @ Wy Semeniuier BJei[h SIe0ESEOH6T
Bamm@onGsurmerd  oeveLTH  GHCITELTGFTID
Herment CammGLoTGsorsderd Henmideled OIELObHS)
®_GiT6ent

4) @ BarFe @b auend G8ITGLTGFTD HBEID
@(H JLeIeler BTeni(h Die0eSe0&H61T60 eeiTens
L BB Q& memTH6TeTSHI

3. Uemeu(meuaeumenpL! QUIT(HSHSHaLD.

a) ©I606560H6T 1) eeimIhE@ Gmul L
LIGenmenL_Lils GQeueliiLimBaenern
CeuaMILBSHBID QBENB LOTLIGH.
b) wyuemigae |ii) umyibulw $i60@®e6i

C) iii) @uH Benewt OTWILIL L
LNGemGuum_ Gyl |uewTLBemend HSIS G
DTG 63T QUIQAUMBIHEIT.

d) Lo |[1V) @b oyUgmielBE
9|66060F 1D @6t (GG GopLL L
91606060561 R(HLILIGI

1) aiii), b(ii), c(i), d(iv)
2) a(iii), bii), c(iv), d(i)
3) a(ii), biii), (i), d(iv)
4) a(ii), biii), c(iv), d(i)

4. @gewi(p o _wiyomen G L Ul LTewl OFgHEHsHE,
AL Buw 2 6o SO DIMIHEH © WIFLOT6T
CFysmenud o BusHs CFuiszl. CUBCBTH 6T
FTSHSHUWILDTET LOFLIGDI 616N H6NT

A) Tt, Tt B)TT, TT
C)TT, Tt D) Tt, tt

1)Aand B 2)Band C
3)Band D 4) Aand D
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5. The genotype of A blood group father of O-blood
group child is
1) IMA
2) ™
3) M8
4) either (1) & (2)

6. Among the following which theory was not
connected with the origin of life
1) Big Bang theory
2) theory of chemical evolution
3) theory of panspermia
4) theory of abiogenesis

7. Who worked in Malay Archipelago?
1) Darwin
2) Alfred Wallace
3) Lamarck
4) Hugo de vries

8. Animal husbandry and plant breeding programme
are the example of
1) mutation
2) anthropogenic selection
3) natural selection
4) both 1 and 3

9. For a gene with two alleles, if the gene frequency
of the recessive gene is 0.3 what is the genotypic
frequency of homozygous dominant?

1)0.7

2)0.49
3) 0.42
4) 0.09

10. Which one of the following is a wrong statement

w.r.t biological evolution?

A) Coelacanth evolved into the reptiles

B) Some reptiles went back into water to evolve
into amphibian like Ichthyosaurs.

C) The dinosaurs suddenly disappeared from the
earth, about 65 mya

1) Aand B

2)Band C

3)Aand C

4)A,Band C
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5. O0-@165% Cen1ed GUHmsula SHhmd BJsHs

CHT&GHH 6T LOTLIEDI QDD
1) IMA

2) 1A

3) 1"B

4) (1) &(2)

eteumeusstoumplied  eibdHd  Camium® o _ulifler
® (HoUTHBHHIL 63 DNt HLILL all606n6v

1) QumGangri s Gsm ur®

2) Bauglulwied Lflewnmiod Gami Lm®

3) umestero@UFAWIT GHm LT®

4) o _ulymm Gam un®

7. 1060TU1 e anl L SHdle0 LewllflibsHeuf wimy?

1) Lmyefesr
2) &60.".L1971 6umeverd
3) eumiomiys
4) afuy B 19 aliferd

8. &meUpeL eueILIL] LOBEID STeuy U6l HL LD

ST W6l DHBES 2 HTJ6u01LD
1) SHiemorBBID

2) e alwied a6y

3) Buiems Gzjel

4) 1 oppib 3 ByewiBo

9. Breni(h DleL6SeLHM6NS CIBTERIL & (h LOTLIGIOIBE),

10.

@ObmIEG yugmieiler L DIHT6suswmr 0.3 1%
B mHFHTe0, CanTGLTmaHeD QEIG LFLGDI 6UMS

9IFTClev6T 6T6TTEN?
1) 0.7

2)0.49

3) 0.42

4) 0.09

Weiteumeuemeupmled 61 2 uflifluied  Liflewormio

aueNJFAulenn SHeupmedt gniml?

A) Cameundhg 2ajeaueiauns Lifleniddsa

B) v eajeien 8ewiBD HewTenihb@&HeT CFeiisl
®&HCwrsfser  Curais S meuTipalsenTas
Lif] 6woTLl &> G601

C) oL GBamgyser Hebyer youied Smbal
LOEMBH G, &iLomy 65 mya

1) Aand B

2)Band C

3)Aand C

4)A,Band C
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The standard reduction potentials E° for the
following half reactions are given below:

Zn** +2¢” — Zn; E°=-0.76 V

Fe?* +2¢” — Fe; E°=-041V

The standard reduction potential for the cell
reaction will be

Fe** + Zn — Zn** + Fe

1)-1.17V

2) +1.17V

3) +0.35V

4)-0.35V

If a current of 0.5 ampere when passed through
AgNOs solution for 193 s, then weight of Ag
deposited will be

1) 0.108 g

2)54¢

3)10.8¢g

4)1.08 ¢

If conductivity of 0.2 M solution of KCI at 300
K is 0.015 S cm then its molar conductivity (in
Scm?mol™?) is

1) 75

2) 50

3)7.5

4)5

For electrolyte CaCl, the molar conductance is
given by

1) 29, = 2)° Ca®" + A° CI

2) A9, =A° Ca?* + 52 CI”

3) A9, =\° Ca®* +A° CI”

4) 29, =A° Ca?*+2)° CI”

The electrolysis of aqueous solution of NaCl is
carried out using mercury as cathode. Which of
the following ions is discharged at cathode?

1) H

2) Na*

3)CI”

4) OH

3
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Lelleupld  Siewy  LleiidevalenanshsTeal  BHD
aBmeL E° &6 Oam(hédsliul (heitengi:
Zn** +2e” — Zn; E°=-0.76 V
Fe?* +2¢” — Fe; E°=-041V
BBl 063IH60  alleneandhatar @Bhdd HIIL
ARIBIRITN
Fe** + Zn — Zn** + Fe
1)-117V
2) +1.17V
3) +0.35 V
4)-0.35V

0.5 gubliwy WeiBem L AGNO3 semygedest
afBu 193  alemosehdE& — DiILIleTTe,
UgeuenL_ Wb Ag BT eTeml

1) 0.108 g

2)54¢

3)10.8¢g

4)1.08 g

300 K @ KCI @&t 0.2 M sysedest
sLsHIsHmar 0015 S cm! awmred eigen
Gomeon &L SgISSmar (S cm? mol-1@eb)

1) 75

2) 50

3)7.5

4) 5

CaCl; eu@efulenr — Guomeory
FHBenISHSHT6T UTUILIT(H

1) A%, = 2)° Ca?* + A° CI-
2) A9, = A° Ca?* + v5)\° CI”
3) 19, =A° Ca®* +)° CI”

4) 29, =A° Ca?* +2)° CI”

B SIS

NaCl @®er pilw sevyFele OeTRMBLEGLIL
LTSI FSHMS Ca5CaTLTaL LWSTLGSHS)
CuoBosTaTtenubGaSBg. Leeumd  ojulelseried
o185l Bp565Tged GeuaTCuBBLILBSBSI?

1) HY

2) Na*

3)CI

4) OH”
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The equation of state for 5g of oxygen at a
pressure P and temperature T when occupying a
volume will be (R — universal gas constant)
1) PV = 5RT
2) PV =2RT
3) PV =2 RT

16

4)PV ==RT
32

Which of the following gas will have maximum
rms velocity, if all are at the same temperature?
1) oxygen

2) air

3) carbondioxide

4) hydrogen

Mean free path of O> gas molecules in rigid
container is A. The temperature of gas is doubled,
then new mean free path of O, gas molecules is
1A
2) 2

2
3) 2

A
4)2

If 7 g of N2 is mixed with 20 g of Ar, then E—p of

mixture will be
1) 17/6

2) 11/7

3) 17/11

4) 17/13

The molar specific heat of oxygen at constant
pressure is Cp = 7.03 cal mol™* K*and R = 8.31
J mol*K™L. The amount of heat taken by 5 moles
of oxygen, when heated at constant volume from
10°C to 20°C, will be approximately

1) 25 cal

2) 50 cal

3) 253 cal

4) 500 cal
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OS5 P wBmid Qeauliumemsy T &sd 5S¢
abdmaisastar  BHaeouls gFwoaurd (R —
o euaenmailul euru] ompiled)
1) PV = 5RT
2) PV =2RT
3) PV = = RT
16

4) PV ==RT
32

SmarHHID @Cr  Qeuliuplensouied B(HHSHT6V,
Uelleu@pld  eumubseled o1z SiFsul g  gymafl
Bty oo CaudsHamdHd BTN (HEbEGHD?
1) ey deniegent
2) sl
3) sMJLGTIL SyHmFH
4) ewamL [yegest

FHLomer QBmeiaeveaied O2 euTu eLPeVEdn 131561 6T
gynafl CrEHelmL GHHMID A QuGID.  euTu a6
QeauliuBleney B liim@d, Wetery Oz euruy
CLPeVS I BIB6T 60T LSl FTTa(f GLomgedlenL SHamyLd
A
2) 2\

y!
3) %
4) P,

N2 &eir 7 g 20 g Ar 2_L &1 &H60[hSHT6v, z—p H606M6

1) 17/6
2) 11/7
3) 17/11
4) 17/13

BEneOWITET DI(IPSHHHSH0 i denilegeiest Gomeory
GO L Geuriuib Cp = 7.03 cal mol* K iiagib
R = 8.31 J mol’KL. 10°C (psed 20°C euemy
Hleneowimer Sleailed gyl TeHsLILIGL Gurgl, 5 GLomed
opbeime  aBHGLD  OQeuliuGHeT D66y
GxpmymuioTs

1) 25 cal

2) 50 cal

3) 253 cal

4) 500 cal
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NEET MICRO TEST 12 (22.11.2024) 20x4=80 MARKS

Botany: Principles of inheritance & variations, Zoology: Evolution
Chemistry: Electrochemistry, Physics: Kinetic theory

Solution

1. Answer: (1)
2. Answer: (3) 17. Answer: (4)
3. Answer: (1) For all gases at the same temperature,
4. Answer: (2) 1
5. Answer: (2) Vims & —=
6. Answer: (1) M
7. Answer: (2) 18. Answer: (1)
g ﬁzzxg: 83 For rigid container, V = constant = n is fixed.
10. Answer: (1) 1 .,

Hence A=—=——=is independent of

\2mnd? P

11. Answer: (3) temperature.

Eoey = —0.41 +0.76 = 0.35V

19. Answer: (3)

7 1
12. Answer: (1) & o
Agh+e — Ag 20 1
Mass of Ag deposit , A= —
(£2)x0.5x193 40 2
= e = 0.108¢g / 7. ) s
1 5 H 2 3

13. Answer: (1)
kx1000 =

_l’_
Molar conductivity (Ap) = C Yo =1 7, -1 v,—1
A — Q0I5x1000 _ mpg 9 e
m = =

03 LSS
4 2 __4 . 2

14. Answer: (4) s 1+ 1
CaCl, — Ca?t +2C1~
Aq (CaCl) = Ay (Ca*") + 22 (CL) 17

Ymix zﬁ

15. Answer: (2)

The reduction potential of Na is less as 20. Answer: (3)
composed to H. Given,

16. Answer: (4) C,=17.03 cal mol'K"", R =8.315 J mol"'K"
Mass of oxygen (m) = 5g n=>5moles, T, =20°C, T; = 10°C, AQ =?
Molecular weight of oxygen (M) = 32 - Heat, AQ =nC, AT

=n(C,-R)AT[C,-C,=R
N un lenfi defn= m_> (% )831[ p ]
M 32 =5{ . : }x(zo—m)
PV =nRT 4.2
5 =253 cal
. PV="2RT
32

1
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